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1 % A (HLA7 1)
K H & #H

1 e R OAHE 2, 626, 377
1 A4 2,626, 377

2 fdi Bk M OV R0k 129, 480
1 fd AR 286

2 FHCk 129, 194

3 WPENUA 38, 185
1 B pEE FH IO 1

2 M PETEELIN 38, 184

4 RS 1
1 k4 1

5 FEINA 57,131
1 HEAN 57, 131
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1 e 2, 831

1 a# 2,831

2 B E 2,411

1 #aps e Bt 2,078

2 AR 174

SEAEZEH 159

3 TP 587, 530

1 [E AL 587, 530

4 T AL 1,333,770

1 TR 1, 333, 770

5 TA#E 51,950

1 R i F e 51,950

6 SEMIAE 1,000

1 KEEIRE 1, 000

7T NMEE 784, 110

1 1 HALER N 15, 025

2 T HALBRNE R 733, 146

3 bEARNEE 35,939

8 MkE 85, 572

IR I=E 85, 572

9 Tl 2, 000

1 T 2, 000

% = 2,851,174




i B B A #H 17 24
T T 0] i &
- y— RR294E FE D> B ¥HE 21,600 TH LA
SRALERG 7 B MEFELLP P DRI A & DS L BE L T B,




